HARLEM 2000 - BB SET JUNIOR
420214

INTERSPORT International Corporation Eurape B.V. c E

Van Diemenstraat 186, 1013CP. Amsterdam, Netherlands

. .. . Made in China
inquiries @intersport.com Fabriqué en Chine



Junior Baskethall Stand
ASSEMBLY AND OPERATING INSTRUCTIONS

Read all the instructions thoroughly before attempting to assemble the basketball stand.
Adult assembly only and for domestic use only. Keep the instructions for future reference.
Unpack all the parts and elements of the set to make sure you have all the parts.

Not suitable for children under 36 months, small parts, choking hazard.

Part List
1 |Backboard (O 1
2 |Goal Ring &> 1
3 | Net i 1
4 |Tools =5 4
5 |Screw ._ 1
6 |Top Pole | 1
7 |Middle Pole C 0/ 1
8 |Lower Pole Cca ) 1
9 |Base N 1
10 | Axle 1
11 |Wheel @ 2
12 |Lower Brace = = 2
13 |Cover EE-} 1
14 |Bolt, Nuts Washer M8*70 )] 1
15 |Bolt, washer sets M6*16 Wi 4
16 |Bolt, Nuts Washer M5*35 @y 4
17 |Bolt, Nuts Washer M8*65 (] 3

8+




WARNING!

® This basketball stand is for domestic use only and not for
commercial use.

e Fill the base of the basketball stand with water or sand to
prevent the stand tipping over.

e The surface should be smooth and free of sharp objects that
could damage the base.

® Do not play with the stand when weather conditions do not
permit this especially in windy conditions.

® Set up the basketball stand on a level and firm ground.

® Do not stand or hang out of the rim or any other components.
® Do not wear jewellery while playing which might get caught in
the net or catch it on other components.

® Do not allow children to move or adjust the basketball stand.
® Check the product before each use for stability or damage.

® Make sure all the bolts are tightened before each use.

ATTENTIOMN?2!

CE®®



Step 1




Step 2




Step 3

A/

water or sand




Step 5

@ i‘?“{-l‘:h'.

4
9"
DA




Step 7




